The properties of logarithms work both ways.

Expand using all the properties of logarithms.
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Equivalent answers. Both answers are acceptable.

Use the Properties of Logarithms to expand each

logarithm:
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Expand using all the properties of logarithms.
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These are equivalent answers. Either one is acceptable.



Expand using all the properties of logarithms.
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Expand using all the properties of logarithms.
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Expand using all the properties of logarithms.
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You can now finish Hwk #19
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Problems 20, 21, 24, 26, 28, 29, 80, 82



